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WORKOUT 4C — Geometry 1 (Transformation, Construction),
Trigonometry 1, Vectors, Matrices

GEOMETRY 1, TRIGONOMETRY 1

PAPER 2 (Structured)

#1 — June 2008 #4b

#11 - June 2004 #5

#21 - June 2000 #7

#2 — June 2008 #6

#12 — June 2003 #3b

#22 —June 1999 #4

#3 = June 2007 #3b

#13 — June 2003 #4

#23 = June 1999 #6b

#4 — June 2007 #6

#14 — June 2002 #3

#24 — Jan 2009 #3b

#5 = June 2006 #3a

#15 — June 2002 #5a

#25 = Jan 2009 #6

#6 —June 2006 #4

#16 — June 2002 #7

#26 — Jan 2008 #3b

#7 = June 2006 #6

#17 — June 2001 #3b

#27 — Jan 2008 #6

#8 — June 2005 #5

#18 — June 2001 #4a

#28 — Jan 2007 #4a

#9 — June 2005 #6a

#19 — June 2001 #5

#29 = Jan 2007 #5b

#10 — June 2004 #4b

#20 — June 2000 #4a,b




CXC (CSEC) MATHEMATICS MAY 2011 BOOTCAMPS

| PAPER 1- (Multiple Choice)

GEOMETRY 1, TRIGONOMETRY 1, VECTORS, MATRICES

Item 1 refers to the diagram below.

AC and DE are straight lines intersecting at
B. Angle DBA=58°.

1. The measure of angle ABE is
(A) 58°
(B) 122°
(©) 142°
(D) 302°

2.

ABis parallel to EC. The measure of £ BDE
5

(A) 40°
(B) 50°
<) 140°
(D) 180°

A ship sailed 8 km due east from Ato B. It
then sailed 6 km due north to C. Which
diagram below BEST represents the path of
the ship?

(A) C

(B)

©

N
A
|
c
6 km
A 8 km B
N
N
1
C
6 km
,; 8 km ;
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(D) X 5. Which of the following BEST describes the
I properties of an equilateral triangle?
! 8km B
A 1. Allsidesare equal.
i II.  Allangles are equal.
HI.  Only two sides are equal.
b2 IV.  Only two angles are equal.
Item 4 refers to the following diagram. (A) Tandll
P (B) IlandII
(C) [l only
(D) IVonly
\3“& Item 6 refers to the diagram below.
50 cm z
300
R Xxcm [1)
4. In the right-angled triangle above, not drawn
to scale, O0=90°, PQ = 50 cm,
PR=130¢cm, and RQ =xcm,
Tan PRQ = X 10m Y
(A) 50 6. The diagram above, not dnyn to m.le,
o shows that the angle of depression of a point
¥ X from Zis 30°. If Xis 10 metres from ¥,
(B) x the height of ¥Z, in metres, is
50
(A) 10tan30°
(C) 50 (B) 10sin 30°
130 (C) 10 cos 30°
P (D) 10 cos 60°
(D) o
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Item 7 refers to the diagram below.

Saa taees tanzd sasas Bas 253
YR
PR
4 ooe A—IP’: : i‘L . -
r 3 £
11l
i
2 P
t t1
3 LA i
4 1 $
3 18 Ho HH
[;::*:]_ 5y o H ‘::1:_ 3 4 g H sl
= !
H H ¥
- :

7. [n the figure above, AOPQ is mapped to
AOP'Q". What type of transformation has
taken place?

(A)  Reflection
(B) Enlargement
(C) Translation
(D)  Rotation
Item 8 refers to the diagram below.
y4
B\
B
(7,8)
5,7 ’
Al
% “o
2,9 .
>

8.  Inthediagram, the translation by which AB
smapped onto A"B’ is represented by

o g
NN
© [2)
® (4

Item 9 refers to the following graph
which shows the point A.

7 e
l‘l
3 =
z
lll
4T 3 2 -1 HOHE 1 T2 31 d- x
-
2
4
9.  Whatare the co-ordinates of the image of 4
inder reflection in the y-axis?
A) (3,9
B) (3,4
© 4,3

D 43
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10. Aboatwastravellingonabearing of270°, 12.  Thelength,incm,of ABis
Inwhatdirectionisittravelling? '
@A)  West (g) 4
(B)  East B) a
(C)  North (©) a+4
(D)  South M a-4
Item 11 refers to the diagram below of a 13.  Ineachofthediagramsshownbelow,A4’is
construction. With centre A, an arc BC the image of . Which of the diagrams
is drawn. With centre B, and the same showsareflection in the x-axis?
radius, the arc PCQ is drawn.
(A) ¥
< 0
A
P
0 X
A'
A B
11.  What is the measure of ZBAC? (B) i
(A) 30 A
(B) 45°
(€) 60° ' 7 x
D 75°
(D) P
Item 12 refers to the following diagram.
A (©) »t
CQ A
0 x
B (X
\/az-o- 16 cm
A’
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(D) 4 (D) N’
Ml
0 X
Li
Item 15 refers to the following diagram.
14. f’
M ; P
A ;
L N
- X - o - X

The triangle LZMN above is rotated in a
clockwise direction about L through an
angleof90°. Whatisitsimage?

’ Nl
(4) L 15.  Inthediagram above, if the line y=x is
rotated anti-clockwise about O through 90°,
whatisitsimage?

Ay  y=0
B) x=0
© yv=x
D)y y==x

(B) L

(€)

Ml
M’ .
> Item 16 refers to the diagram below.
NI
l!,'m

N’ L' B a C
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16. The value of tan (180° - x°) is equal to 18. From the diagram above, sin Bis
(A) a/b :
(B) b/c
(C) alc (A) -5-
(D) bla
® 2
Item 17 refers to the diagram of a 4
building below.
A boy stands 12 metres from the foot of the ©) 4
building and observes the angle of elevation 5
of'the top of the building.
5
L (D) 3
@ B% E \\ Item 19 refers to the following diagram.

HHEBL e

B[] E %T
<——12m—->l

17. Theheightofthe building is approximately

o grianote 0 b
(A) 12tan40° 19. zlg:ggll)ll:g\.fe,ABClsamanglemw i
(B) 1.6+12sind0°
(©  1.6+12cos40° _
(D) 1.6+12tan40° Theangle ABC'is
(A) 4
Item 18 refers to the following diagram. B) 50°
A € 8
D)y %°
5
B
C 4 B
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Item 20 refers to the diagram below.

N\

20.

Items 21-22 refer to the diagram below.

ACand DE are straightlines intersecting at
B. Angle DBA = 58°.

)

1

Line AB is rotated through 90°clockwise about

2

the point C.

The coordinates of A", the image of A are

(A)
(B)
(©)
(D)

(1, 1)
(1,2)
(1,4)
(2,2)

21.

22.

23.

The measure of angle ABE is

(A)  302°
B) 142
© 12
(D)  58°

Which of the following angles are equal?

(A)  «DBCand ZCBE
(B)  ZCBEand ZABE
(C)  ZABDand ZCBD
(D)  ZABDand ZCBE

~ 5

Intheright-angledtriangle above, tan 8 is

|

(A)

=

o RV

(B)

~a

(&}

._,‘l

-—
-

(D)



CXC (CSEC) MATHEMATICS MAY 2011 BOOTCAMPS

24. Inatriangle ABC, angle A=x"and angle
B = 2x°. What s the size of angle C?

(A)  45°

(B) o&F

(&) (180-3x)°

o

180
(D) (;‘)

Item 25 refers to the diagram below.
T M e e
B f!iix.;].;- 117 e SENUNEN K

A R R
HON e T T
TN T AL
HE NG o5 aamazun

gt - R s B

1T Ih YN BWWEN FEERE B ik

T NG R HARTH B

{.;,4 e S EEE RESEE SR bofad i)

mm B VAL ) R A T B SR P B
Ra i Laway mmmu ] :JF:,“ﬁ;:,. EM
PESEN SEwSEIRERRS EEESE FRTY yeun, -.rjr 1t ¥
25. Inthefigureabove, the line CDistheimage

of AB after a
(A) arotation through 90° centre O
(B) anenlargement of scale factor -1

-4
(© atranslation by vector {_8)

(D) areflectioninthe y-axis

Item 26 refers to the following diagram.

A

X i

Y

c

26.

\

Inthe figure above AB and CDare parallel,
Which of the following BEST describes
the relation between x and y?

(A) x+y<Xx

B) x=y

©C) x+y>X

M) =x<y

Item 27 refers to the following diagram.

4 cm

217.

28.

A

In the right-angled triangle above, which

mgonometric raxioisequtlto%?

(A) tany
(B) cosx
() sinx
(D) tanx

A rectangle has rotational symmetry of
order

(A)
(B)
(©)
(D)

EWN -
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29,  If the sum of the interior angles of a Item 31 refers to the diagram below.
polygonis4rightangles, then the polygon I=Tet 55333 S5434 15753 S350 3520 0a! 7311233
wa 4 R R 385 SR

pEyi i ehs HE TR
(A)  wiangle L PYAE3 15ead dEu8: Heats SNRSH hese
®) T ; § 4031 3030 i
© pom S R R
9 1723 1321
(D)  quadrilateral 5! THL
Item 30 refers to the following graph. i2hi 3
i Ir'r‘lfﬁ',jf*l 1] r:xdm:jb b . it
e - - - -ty e N IS (M3 11 1
agum B IES - ot M
. 4 -+ *‘L % L
:E w:— "-—?L" T it f; 'E_“ ':j
tHEHHH HHEHT
HHERH T
Hr it Daas - aBabv al - 31. In the figure above, AOPQ is mapped to
ghﬂ i L.{. fa3 kel fades Godaa veun: AOP’Q”. What type of transformation
- IL" - s e SR S has taken place?
EEd R4 A3 (R St G b
et - : +— (A)  Reflection
:r[:b.'b_-{‘j“ 1 - RES9 sebud 'TTP “" :—‘r—f‘ ™ 'N‘.‘t' (B) Sw AT
- . > = (C)  Translation
R aas (han! (D)  Rotaton
y ] Item 32 refers to the following diagram.
T i T :
a il chrir YA TS
SH+ -

30.  How many triangles congruent to AADE | 59 e
would be needed to cover the square ABCD B S cany e
entirely? I ft
A 2 3 ¢
B 4
© 6 2
D)y 8 :

L ‘
H o HRan
b | 35 & ER WD
j e Il ¢

10
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32.  A'B'C'isthe image of ABC under an en- 35.
largement by ascale factor2. Thearea, in
square units, of A’BCis

{A) 2
(B} 4
©c 8
D) 12
33. A rectangle has rotational symmetry of
order
(A) 1 In the figure above, not drawn to scale,
®) 2 angle POR=40° QR isparallelto PS. The
(©) 3 size ol angle QPR is .
(D) 4
(A) 25°
(B) 40°
{C) 65°
34. A five-metre-long ladder which rests on (D) 75°
the horizontal ground is leaning againsta 36.
vertical wall. The footoftheladderis 3 m
away from the wall. How far up the wall
does the ladder reach? B "
(A) 4m
® 6m 4
© dm “qar
(D) 15m 2=
44
2
1A C
LD @D
{ ;
0 1 2 4 5

AABC isenlarged usingascale factor of 2.
The area, incm?, of the enlarged triangle is

(A) 2
(B) 4
(c 8
(hy 12

11
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37.

It w

Ny
i

1

|
Tl
LN R

FE:XE:

-

=
xBa
=

*
W=

[
1

L
ENES
~
%
=

Theshaded triangle LMN aboveis rotated
in a clockwise direction about C (1,0)
through an angle of 90°. Its image is
triangle

(A) I
® n
© m
(D) IV

12

38.  Whichofthefollowingshapes does NOT
1ave a line of symmetry?

.
m L}A
{© ::
©)
39. 2P
45
200 m
.
‘B Q

In the diagram above, not drawn to scale,
PQ represents a cliff, 200 m high, and 8
represents a boat. The angle of depression
of the boat from P is 45°, The distance of
the beat from the bottom of the ¢liff, is

(A) 100m
(B) 200m
(&) 420 m
D) 9S00m
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b4

Items 40 refers to the diagram below, 43.
‘é\ Jem
R ~Sem P
40.  Inthe trianglo above, cos P is [ ¥
4
A i
(A) 3
4
®) 3 In the diagram ebove, the image of ‘P
can be obtained by a
(© 3_ (A)  reflection in the x-axis
4 (B)  reflection in the y-axis
(C)  rranslation parailel to the v-axis
3 (D)  rotation anticlockwise about O
(D) 5 through 90°

41.

In the isosceles triangle shown above,
the value of x is

A 30
EB)) 60 In the figure above sing = 4 What is the
€ 120 5
D) 150 value of tan 6 ?
42. The image of the point P(~3, 2) under
& 3
2 —
the translation is 5
: 3
B) =
(A (-53) 4
B) (2,49
@ L3 5
5
D)y =
) 3

13



CXC (CSEC) MATHEMATICS MAY 2011 BOOTCAMPS

45, % 47.
5 e m
i 1y :
y)
TH - _'—:;I ::%. E.? = X
49° > m' A
5 5 =
Inthe diagram above the lines mand m” are i s
parallel. The valueof y is TR
&) 82° In the figure above, triangle STU is trans-
® %0 lated to triangle SY'U". The translation
©) 98 vector is described by
D) 278°
Item 46 refers to the triangle PQR, in (A) 2 l)
which angle QPR = 90°, PR = 12 cm and if
PQ =5cm.

4
o (0
46.  Thelength of QR incentimetres is
(A) 7
B 11
©) 13
(D) 17

14
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48.

50.
} L - T 4]
: ia
8 W 3 -
i
1 AT
1 o
T i :
iaes = 5
of - C BHC T gii
— IR SN RN NS SN g T
HH HH s
In the above diagram O is the centre of
enlargement, and A ABC is enlarged to
form AAB'C',
What is the scale factor?
O
2 ol.
®) -
1
{© 3
52.
(D) 2

49.  Inatriangle ABC, angle A = x° and angle
B = 2x°. Ifangle Cis less than 120°, then

angle A is

(A) less than 20°

(B)  exactly 60°

(C)  between 20° and 60°
(D)  between 60°and 120°

15

6cm
Scm
§cm

In the figure above, x =

(A) 10cm
(B)  Vi25em
<) 9cm
®)  «75em

Which of the following is NOT a quadri-
lateral?

(A)  Square

(B) Pentagon

(C) Parallelogram
(D) Rhoembus

P’ (2,-3)is the image of P after a transla-

tionT (_ g) . The co-ordinates of P are:

(A)  (6,-8)
B (2.-2)
© (1,-3)
D) (-2,2)
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53.

54,

55.
Cc
\5& Sem
A 12 em B
In triangle ABC above, AB = 12c¢m, 56.
AC = 13cm, BC = 5¢cm. WhatistanC?
=Bk
A 13
12
® 13
. 12
© 3
13 57.
(D) 2R
A
o
7 |80
¢ 2 58,

In the rectangle above, if
ZAER = 80° then £DAC =

(A) 10°
(B)  40°
(Cy 50°
(Dy  80°

16

Which of the following BEST
describes a quadrilateral with all
its sides equal?

(A) Rhombus

(B)  Rectangle

(C) Parallelogram
(D)  Trapezium

A boat is travelling on a bearing
0f270°. In what direction is it
travelling?

(A)  West
(B) East
(C)  North
(D)  South

The point (3, 2) is reflected in the

line x = 5. Its image point is

(A (2,7)
(B) (3,8
© (7.2
(D) (8,3)

Under the translation [ 2‘ ] the

image of (3, -5) is

(A)  (1.-2)
(B) (6, 15)
(€)  (0.-3)
(D) (5.-8)
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59. In the figure above, not drawn to scale. € 15 the centre
ofthe circle, AR s a chord and OM is perpendicular o
AB. If OB = 20cm and AB = 32cm, then OM s

s _\\

(A) Scm
(B) 10cm
(C) 12¢m
(D) l6cm

17
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60.
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The transformation that maps ALMN onto APOR is

(A)  arotation through 180 about the origin
(B)  arotation of 180° about [_ '; - l)

2

~ -

1
.

(C)  anenlargement about ( - %] of scale factor 2

(D)  an enlargement about the origin of scale factor -2

18



